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Note: a regular 13 (7017777 j7157) must wear four garments for any AT pants (07013p), tunic (n21), turban (n21¥p) and
sash (v2aK). The 771 only explicates 2 of these in the context of 7711, as below (n1n>=73 178, D?DIIN="T2 20221)
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I.  Mechanism of the lottery — putting out 1 or 2 fingers
a. n”r 1 for deft person, 2 for inept (support from ®n»131), in any case, all fingers count as 1
b.  Challenge: prohibition against using ring finger (= count more, easy to retract in anticipation)
c.  Answer: still counted as one
i. Parenthetically: meaning of y'pa: whip
II.  Background of v»a — story in mwn about 2 0113 running up w13, 1 ended up with broken leg
a.  ~p77x similar situation, 1 103 stabbed the other; sequence of stories:
b. Murder: was first —
i. Question: if so, why didn’t they establish a v»a?
c.  Rather: broken leg was first
i. Ifso, what is the import of mnr "7 (in murder story)
d. Rather: murder first; 71 thought it happenstance; broken leg showed pattern—> v»a
i. prry 72 who brings navy n%y; not that it applies, but in order to increase weeping
ii. While he was dying: his father expressed more concern over 1201 nInv! (as per v. 2)
1. Not that: ©93 nnv was treated with great reverence;
a.  Rather: murder was insignificant
II. Proper garments for j9T0 NMIN (1”MIN) — as per v. 3 — RN»12
a.  p’m clothes for taking out jwT::clothes for 1"mIn=wp (not like 3"n->5N), BINR — lesser
i. Following: YRynw’ '7’s dictum re: cooking clothes ~=serving clothes
1. Implication: taking out the w7 is considered an nmay
b. &7 0Nk >”blemished” nnn> may perform jwTn RN (=non-NTay)
i. Application (of 8r12273): dispute Y"2v1/71nv 1 whether np9nn extends to 7m n
1. 5”2 same > ®"mon-nTay and may be done by mn "ya; p"n=nm21y
a. Since: it only requires 2 (of 4) garments (see note), cannot be nTay
2. pnr /7 all agree that 7"man is an nay and requires proper nn2
a. Response: all 4 garments needed; w15 (v. 3) expands to include turban & sash
b.  Only: nnn> ooin explicated, to teach:
i. 772 that it must be the exact size for that jn3
1. 5" infers this from the unique use of y1n
ii. 17w3 5y pro1op: that pants are the first garment put on
1. 577 infers this from 11w1 5y
ii. Perhaps: parallel dispute X071 7/nT70 "1 (as to whether 7"mn is an nTay)
1. Aamm 7 wa» extends to include all 4 garments
2. Ap17 7 W21» extends to include clothes used by 3"n3 on previous 2"y
a. 272 challenges
i. wvaaw. different sash (see above, :2°)
1. Challenge: how can they be used for lesser nwyTp?
ii. Rather: includes tattered garments
3. Dispute: re: reusing clothes of 313 used on 2"nv (v. 4)
a. P’ must be buried and never reused
b.  »p17’7 may not be reused by 3"n3 on subsequent 31y
4. Rejection: all agree it is an nTay; dispute as to whether extra phrase needed to define as
an nTay or presumed from requirement of B»v1IM NN
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